
MESE-066 No. of Printed Pages : 4 

tr) 
00 

O 

M.Ed. (MASTER OF EDUCATION) 

Term-End Examination 

June, 2012 

MESE-066 : INFORMATION TECHNOLOGY AND 
EDUCATION 

Time : 3 Hours 	 Maximum Weightage : 70% 

Note : (i) All questions are compulsory. 
(ii) All questions carry equal weightage. 

1. Answer the following question in about 
600 words. 
What is meant by a Computer Program ? Explain 
how, it is written with 'Algorithm' ? 

OR 
Discuss the role of ICT for providing Learner 
support services in Open Learning Systems. 

2. Answer the following question in about 
600 words. 
Discuss role of technology to assist students with 
visual impairments. 

OR 
Describe the use of computer for assessment of 
learning. 
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3. 	Write short note on any four of the following in 
about 150 words each : 

(a) Components of a web browser window. 

(b) Effective use of search engines. 

(c) Advantages of internet technology. 

(d) Discuss how Bluetooth can be configured 

to be used correctly ? 

(e) Role of educational TV (SITE) in providing 

continuous and extension education. 

(f) Use of video-conferencing in education. 

	

4. 	Answer the following question in about 

600 words. 

List the barriers that you may face while 

implementing web based programmes in your 

institution. Suggest how would you overcome 

these ? 
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